

$$J_{\alpha} = -\frac{e}{\Omega} \sum_{\vec{k}} V_{\alpha}(\vec{k}) F(\vec{k}) = G_{\alpha\beta} E_{\beta} + V_{\alpha\beta} \nabla_{\beta} T +$$

$$E(\vec{k} - \frac{\tau}{\hbar} \vec{F}_{ext}) \approx E(\vec{k}) - \frac{\tau}{\hbar} \vec{F}_{ext} \cdot \vec{\nabla}_{\vec{k}} E(\vec{k}) = E(\vec{k}) - \tau \vec{F}_{ext} \cdot \vec{v}(\vec{k})$$

$$\Rightarrow J_{\alpha} = -\frac{e}{\Omega} \sum_{\vec{k}} V_{\alpha}(\vec{k}) \cdot f[T - \tau \vec{v}(\vec{k}) \cdot \vec{v}T; E(\vec{k} - \frac{\tau}{\hbar} \vec{F}_{ext})]$$

$$\approx -\frac{e}{\Omega} \sum_{\vec{k}} V_{\alpha}(\vec{k}) \left[\underbrace{f(T, E(\vec{k})) - \tau \vec{v}(\vec{k}) \cdot \vec{\nabla} T}_{\textcircled{1}} \frac{\partial f(T, E)}{\partial T} - \underbrace{\tau \vec{F}_{ext} \cdot \vec{v}(\vec{k})}_{\textcircled{2}} \frac{\partial f(T, E)}{\partial E} \right]$$

* For $G_{\alpha\beta}$, we look at $\textcircled{2}$

$$\Rightarrow -\frac{e}{\Omega} \sum_{\vec{k}} V_{\alpha}(\vec{k}) \cdot \vec{F}_{ext} \cdot \vec{v}(\vec{k}) \frac{\partial f}{\partial E}, \text{ let } \vec{F}_{ext} = -e\vec{E}$$

$$= \frac{e\tau}{\Omega} \sum_{\vec{k}} (V_{\alpha}(\vec{k}) v_{\beta}(\vec{k}) \frac{\partial f}{\partial E}) E_{\beta} = G_{\alpha\beta} E_{\beta}$$

* For $V_{\alpha\beta}$, we look at $\textcircled{1}$,

$$\frac{\partial f(T, E)}{\partial T} = -\frac{e^{-\frac{\epsilon-U}{kT}} (-\frac{\epsilon-U}{kT^2})}{[1 + \exp(\frac{\epsilon-U}{kT})]^2}, \quad \frac{\partial f}{\partial E} = \frac{e^{-\frac{\epsilon-U}{kT}} (\frac{1}{kT})}{[1 + \exp(\frac{\epsilon-U}{kT})]^2}, \quad \Rightarrow \frac{\partial f}{\partial T} = \frac{-(\epsilon-U) \partial f}{T \partial E}$$

$$\textcircled{1} = -\frac{e}{\Omega} \sum_{\vec{k}} V_{\alpha}(\vec{k}) [-\tau \vec{v}(\vec{k}) \cdot \vec{\nabla} T \frac{\partial f(T, E)}{\partial T}]$$

$$= -\frac{e}{\Omega} \sum_{\vec{k}} V_{\alpha}(\vec{k}) [-\tau \vec{v}(\vec{k}) \cdot \vec{\nabla} T \cdot (\frac{-(\epsilon-U)}{T} \frac{\partial f}{\partial E})]$$

$$= -\frac{e\tau}{\Omega T} \sum_{\vec{k}} [V_{\alpha}(\vec{k}) v_{\beta}(\vec{k}) (\epsilon-U) \frac{\partial f}{\partial E}] \cdot \nabla_{\beta} T = V_{\alpha\beta} \cdot \nabla_{\beta} T$$